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AHAERT 98 118 114 232 IBTHN 12,000/ 11,908| 13,101| 25, 009|#%kHET =T H 146 142 127 269| F RHHAT 522 662 716| 1,378
ARYHT 222 211 225 436 FEIT=TH 133 135 123 258|  KIEHMX 3,074| 3,975/ 4,078 8,053
JEBT 353 321 379 700 5 EHT 240 279 287 566(FEMTIU T H 72 52 60 112
B 532 569 597| 1, 166|fRiFENT 3,492 3,886 3,930 7,816] AHFHIX 9,870 10,784 10, 184| 20, 968|F A JHT 326 460 477 937
& HHT 304 310 330 640| FiifrHT 198 224 240 464 A ET 196 299 311 610
FE M 278 254 270 5247 T 496 521 549 1, 70| HrfmT 1,023 1,308 1, 363 2, 6715 ILMT— T H 662 833 949 1,782
)1 ET 118 125 133 258[iTART 3,215 3,544 3,657 7, 201|387 H AT 357 436 461 897(HILIET — T H 228 282 301 583
KAGHT 653 637 623 1, 260| H AT 3,031 3,464| 3,605 7, 069 H 2 MT 1,671 1,874] 2,025 3, 899 AR/ JN AT 630 803 846 1,649
$RmT 17 14 20 34| Y 557 635 646 1,281 H My 883|  1,097| 1,083 2, 180| L4 mT 1,384 1,807 1,931 3,738
FSHT 60 55 66 121| BgmT 1,251 1,498 1,538 3,036 #HreEHIX 3,934  4,715|  4,932|  9,647| FE/\iEHaX 3,426 4,484 4,815 9,299
b= T 221 254 293 547| KARHT 155 165 175 340
drisET 70 60 66 126| A YERT 343 421 477 898| H-WFHT 2,611  2,932| 3,082 6, 014|% EET 440 491 561 1,052
JUREHT 120 108 125 233| ERIT—T H 339 428 453 881| K J\AHT 1,013 1,230 1,169 2, 399|ZEIkHT 270 367 371 738
HHET 158 120 109 229\ HHIRET T H 384 476 432 908|/INJ\AHT 1,168 1,459 1,443|  2,902|H % MET 748 860 887| 1,747
TREHT 77 60 78 138| ERIT =T H 412 477 483 960| @ =FHT 392 483 537 1, 020 HH BLmT 184 244 242 486
FFIHET—T H 158 143 178 321 HERETIUT B 278 375 404 TT9|FEETE —T B 48 51 17 68| HmT 991 1, 263 1, 346 2, 609
FRIHET T H 113 117 120 237 FRMIX 14,391| 16,393 16,876 33, 269|RENTPE —TH 98 102 84 186 i £ HT 582 781 800| 1,581
FFIHET =T H 123 135 144 279 fErT—TH 238 222 264 486 - EAHLX 3,215  4,006] 4,207| 8,213
FRTHETY T H 140 175 175 350| A1 JHT 3,518 4,116| 4,307 8, 423| M= T H 34 35 36 71
A FalT 453 459 524 983| T —T H 265 302 334 636|HEAT =T H 14 14 17 31| AR EFIT 5,275 6,335 6,485 12,820
=F: L 24 19 27 46| FriRT T H 555 644 708 1, 352|HERATIUT H 103 114 109 223 JFHT 141 184 219 403
iy 166 165 190 355 T Rl =T H 825 891 969 1, 860|uLLMT 1,761 2,141 2,231 4,372 AEEFMHX 5,416|  6,519| 6,704 13,223
=R 45 29 48 WiEz:20 1,786 1,829 2,009 3,838]  HJIHX 7, 480 8,783| 8,989 17,772
T 181 162 191 353| FEfHT 1, 387 1,574| 1,630 3,204 RIRHT 393 512 561 1,073
RILHT 492 519 556 1, 075|ZLfHT 179 197 221 418( 4 FHnT 471 537 622| 1, 1595 HHET 466 544 580 1,124
(=) 36 32 35 67|\ FRHI—TH 465 540 499 1, 039 | Al T 2,125| 2,561 2,492| 5, 053| & EFHT 533 691 635 1,326
fEFHET 88 73 93 166\ TRIT =T H 351 377 403 780 R BT 212 282 310 592| 74 5 HT 122 156 141 297
HEAHT 42 39 45 84|\ FHRET=TH 419 473 511 984| &5 1,045 1,282 1,374 2, 656(#FHT 509 727 735 1,462
FHET 234 220 224 44N TFARETIY T B 368 440 486 926 | fIRET 487 610 615 1, 225| 5 HT 348 429 401 830
f=Lg 173 188 187 375 X 10,118 11,383 12,077| 23, 460|HTE=HT 365 398 463 861|Jt 4T 476 623 637| 1,260
ELET 586 632 664 1,296 J\ T 1,999 2,525 2,595 5,120 T EX 2,847| 3,682 3,690 7,372
R T 28 26 27 53| L EFmy 2,161  2,576| 2,656 5, 232|35 HET 121 167 172 339
ST 526 523 591 1, 114|255 EnT 36 41 48 89 J\iEHIX 6,825|  8,362| 8,643 17,005| LHT 233 340 320 660
FRHT 26 29 32 61 - EmT 3,307|  3,810] 3,690 7,500 TERETHT 128 189 190 379
LT 176 164 176 340 AL AZERT 352 420 475 895| |- fi] W] 1,153) 1,455 1,489 2, 944| 75 HET 138 201 195 396
JEET 202 180 224 404 %emT 627 633 639 1,272 FE-fET 1,786 2,162 2,213| 4, 375| FiHEHT 352 483 455 938
AT 365 354 396 750 TP HT 1,103 1,353 1,356| 2, 709 [T 792 968 1,001 1, 969| 5 My 270 422 408 830
R AT 39 35 42 77| F 23T 1,266 1,650 1,655 3, 305|dL/ALRET 417 493 546 1, 039| P K FHT 351 405 372 777
AT 1,580 1,665 1,815 3, 480| T JEHT 911 1,142| 1,135  2,277| X 4,148 5,078  5,249| 10, 327|/\iE/FHT 289 411 439 850
fi FE T 219 221 255 476| 1% PEWT 407 491 486 977 ) | 1 (X 1,761 2,451 2,379 4,830
icLZLig 122 132 150 282| HRJEIT— T H 494 592 562 1, 154|7HT 461 575 575/ 1,150
F T 153 142 152 294| HRJEET T H 1,419 1,569 1,831 3, 400| 25 HulT 408 551 523 L, 07T4| A HmT =/ #7 485 666 678 1, 344
‘= IehT 196 183 243 426 ERT =T H 598 695 761 1, 456 (b mT 152 214 208 422| B TAIRTHE 429 591 589 1,180
Amy 191 164 200 364| HFERTIUT H 564 687 697 1, 384|417 /10T 129 179 192 STL| A HET KA 169 249 254 503
JEAHERET 58 49 32 81| W aEmT 851 989 993 1, 982|111 1,110 1,462 1,536 2, 998 A AT S5 K 119 168 172 340
A1) 333 356 424 780 Fn £ HhH] 543 587 547| 1, 134|m Hr T 357 451 484 935 A TAINT) 11 355 447 479 926
)1y 242 195 264 459|  fEEFHIX 14,639 17,235 17,531| 34, 766|%&MHHT 425 554 565/ 1,119 AKX 1,557 2,121 2,172 4,293
1L FHET 113 108 110 218 Felgmy 222 299 308 607
S1) 88 84 97 181| b/ sy 772 900 956|  1,856] EHFHX 3,264 4,285 4,391 8, 676|5EAKHTPEHR 712 943| 1,002 1,945
Pu > T 37 44 45 89| /Nty 443 574 641 1,215 FESRHT & B 82 109 123 232
el 50 62 56 118 kA my 3,029 3,157| 2,741 5, 898| ERJEAT 1,087 1,310 1,334 2, 644| FEHPBTHA 2 IR 340 232 208 440
G mT 92 94 82 176( T/ EHT 2,094 2,302 2,164| 4, 466|175 KEHT 268 384 398 T82| EEHBHT RS 827 1,187 1,194 2,381
JHIAERT 238 245 274 519| T/ gEHT 1,509 1,610] 1,557 3, 167|LLir iy 601 822 824 1, 646 | FEHRMT HH = 397 554 562 1,116
FEHAHT 418 359 424 783| HUAHET 1, 389 1, 641 1,604| 3,245 FRHHAT 397 544 555 1, 099| FARHT F2 1,132 1,490, 1,583 3,073
i FH T 173 171 161 332|FkIT—T°H 283 271 211 482| FFRHET 199 253 251 504 FEAPHT T 678 944 984 1,928
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M [ 327 516 511 1, 027| & FHMT 7 1L 184 294 280 574
FEHRMT 201 302 304 606 5 HMTAYD 456 641 620 1,261
FEPRETFT A (L 141 198 217 415| EHETH) I 277 363 368 731
FEHRMT )1 406 552 593 1, 145( & FHmTh 480 714 673 1,387
FEYRIT P 6 5 10 15[ & HHT % H 406 563 605 1,168
FEHRMTAAAIR 799 1,141 1,165 2, 306| i HMTLH 97 152 155 307
FEGRET A i 1, 467 1,935 2,021 3, 956| & H-HT 31 47 53 100
PR HE X 7,515| 10, 108| 10,477| 20, 585 & HMTFR{R 284 408 432 840
EEaalp: 211 202 243 445
Sl ET 3,176 4,151 4,310  8,461|FHHETHA 39 63 60 123
paislag 1, 402 1,773 1,909 3, 682| &5 HHT IR 13 13 18 31
5| FE T 411 563 617 1, 180| HIFMT L L B 359 531 552 1,083
3=t 1) 139 195 207 402| T HBTRR 41 60 74 134
T faf v ] 230 262 263 525 7 H-HT A 1 118 178 170 348
77K T 71 113 108 221 EHHTH S 133 213 209 422
% JE[RIET 66 100 107 207 5 HET/NER 321 450 477 927
B S HT 171 266 268 534 & T EAE 104 167 186 353
V5[ 5y HT 212 318 316 634| EHRT A I 164 228 225 453
b Iy 315 392 366 758 & FHMT /N 205 308 308 616
T e AT 2,851 3,811 3,727|  7,538| R TR 524 744 720 1,464
AT 1,067 1, 355 1,365 2, 720 EFRTRI A — T H 320 412 437 849
=AY 652 905 919 1,824 M EEIE G T H 350 447 480 927
R AT 1,319 1,641 1,611 3, 252| FHHMTEEEAE=TH 235 336 320 656
[iZ1=1a) 1,060 1,386 1,341 2, 727| & HHT AR 292 445 437 882
rh ELET 390 514 541 1, 055] & H-HT T B 93 137 144 281
PR T 559 763 781 1, 544| & FEMT_FBLSE 145 207 200 407
FEHET 479 611 679 1, 290|FHAETH 0 60 95 90 185
RER X 14,570 19,119 19,435 38,554 #HfFHiX 9,033 12,538| 12,804| 25,342
iy 5,462| 6,308 6,456 12,764
T b X 5, 462 6,308 6,456 12,764
R T 1,170| 1,605 1,700( 3,305
rh = AT 982 945 1,161 2,106
S AT 457 642 638 1,280
B4 LT 119 72 102 174
R4 IHIRT 48 46 68 114
R ERT 338 520 541 1,061
LT 868 1,170) 1,248 2,418
o L LT 657 919 900/ 1,819
- HLRRT 966/ 1,320 1,399 2,719
AT 846| 1,187 1,190 2,377
e T 672 935 974| 1,909
FaHT 171 227 250 477
+- 3T 196 299 274 573
B PRHT 333 499 480 979
=Y FRET 106 144 144 288
[URLa) 117 164 172 336
R4 X 8,046 10,694 11,241 21,935
E R 638 804 833 1,637
IR E IR 1,158 1,423|  1,492| 2,915
E R RAR 216 323 334 657
IR RAR 941 1,354) 1,393 2,747
2 HEET/M 138 216 216 432 w A E 152,591| 184,931| 190,431 375, 362




